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F(x) | AlLF2 45 ~ 48 g 2 820 &
Al HG%) | AlH2 45 &~ 48 |- i+ 1230 ~
(B4 &4 3 BF) | v(z) | ALV2 45 ~ 48 |= i 1,640 ~
o( i) A102 45 > 48 |z i+ 2,050 ~
F() A2F3 45 » 58 |y 1+ 800 ~
A2 H(#) A2H3 45 = 4 |- % 1,190 ~
(i4m F mE4F) | v(z) | A2Vv3 45 ~ 4 |= i+ 1580 ~
o(#) | A203 45 » 48 |r it 1970 ~
F(=) | BIF4 90 ~ 4 |y = 1,000 ~
B1 H(g) | B1H4 90 ~»4 |- 1,770 ~
(B4 B 7 %) | V(=) | Blv4 90 4 48 |= i+ 2,450 ~
O( #r) B104 90 ~ 48 |w i+ 3,130 ~
7 - M F(E) B2F4 0 ~4 |g @ 1,000 ~
B2 H($) B2H4 90 ~4 |- 1770 ~
(Pigw B4F & #4) | V(=) | B2v4 90 ~ 48 |= i 2,450 ~
o(#) | B204 90 ~ 48 |w i+ 3,130 ~
c1 VF(s2)| CIVF3 120 # 48 |§ = 1,270 =
e HF(-k*)| CIHF3 120 A~ 48 |- 2 2,130 ~
(ﬁﬁl\ﬁiﬁ s BT %I%‘) V|'(|(450)) C1VHS3 120 & 45 |= i 2,990 ~
- VF(#32)| C2VF3 120 » 45 |§ * 1,150 ~
el |HFCkT)| C2HF3 120 A 48 |- 2 1,890 ~
(R% & R AUER) vnj(45°)) C2VH3 120 A48 |= 2 2,630 =
A R o1 VF(#3)| D1VF4 150 ~ 4 |§ + 1,935 ~
et HF(k*)| D1HF4 150 ~ 48 |- * 3,395 =
(R% 5 7 5 #UR) vnj(45°)) D1VH4 150 4 48 |= i* 4,855 =
o VF(£2)| D2VF4 150 4 45 |§ * 1,805 ~
AP tali HF(k *)| D2HF4 150 A~ 48 |- 2 3,135 ~
(Bk4m 5§ 2 ARIR) Vl_(|(450)) D2VHA 150 A 48 |= i+ 4,465 =~
F(X) AlF5 60 48 |g 1+ 960 =
Al H(¥) | ALH5 60 ~ 45 |- 2 1510 ~
(% &4 %) | V(=) | ALV5 60 ~ 48 |= 2 2,060 ~
(R “ ) 8 5 R) o(ir) | A105 60~ 4 w2610~
1P g ,‘:;,L F(L) B1F5 120 » 48 H % 1,870 ~
B1 H() | B1H5 120 ~ 48 |- 2 3,330 =
(% &4 5475 #84) | V(=) | BLV5 120 # 48 |= i 4,790 ~
o( ) B105 120 ~ 48 |w i+ 6,250 ~
1 VF(#3%)| CIVF5 120 » 46 | * 1,850 ~
I HF(k*)| CIHF5 120 A 48 |- % 3,290 ~
(7 &hdn % ¥ 7 IR VH(45Y | C1VH5 120 A48 |= * 4,730 =~
) o1 VF(£%)| D1VF5 180 ~ 48 |¥ i+ 3,060 ~
w e HF(-k)| D1HF5 180 ~ 48 |- © 5510 ~
(7 &hdw 55 5 ARIR) VH@5) | D1VHS 180 ~ 45 |= 1 7,960 =
PIFARR £ 7t R
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